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Penguin        Readers

DYNASTIES CHIMPANZEES 3

Model answers:
1	 in groups / families / communities    
2	 in thick forests
3	 mountains, farms, savannahs, deserts  
	 and forests
4	 fruit, vegetables, insects, eggs, small mammals     
5	 They use their hands and faces.

1  galago	 2  Africa	 3  rainforest	
4  stick	 5  termite	 6  monkey

1  galago	 2  stick	 3  Africa	
4  monkey	 5  termite	 6  rainforest

Reader’s own answer.

1  Luthor	 2  Luthor	 3  David    
4  David	 5  Luthor	 6  David    
7  David	 8  David	 9  Luthor   
10  David	 11  Luthor	 12  David

Model answers:
David is more stressed than Luthor.
Luthor is more dangerous than Jumkin.
KL is the most friendly.
Luthor is more submissive than David.
KL is more intelligent than Jumkin. 
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Reader’s own answer.

Reader’s own answer.

Reader’s own answer.
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David

David needed a lot of  rest  
but he was still the alpha male.  
He had KL and other friends  

to help him. He also had a son.

KL
He helped David keep  
his place as alpha male.

Luthor

Luthor showed the other males  
that he was strong. In the end,  
he became submissive, then he  

tried to make friends with David  
but David turned away.


